Exposants négatifs de 10

Nom: Date: Note: __
100 = 3x 10 =
100D = 7% 1003 =
1072 = 410 =
1002 = 1004 =
1079 = 1002 =
3x10° = 1 x 100D =
1009 = 267.4 x 10* =
205 x 107 = 234.6+ 107D =
290.1 x 107 = 1003 =
816.7 x 1002 = 1002 =
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Exposants négatifs de 10

Nom: Date: Note: __
107 = 0.0001 3% 10 =30
1077 = 0.1 2% 1072 = 0.002
107 = 0.001 4% 10 = 40
1072 = 0.01 107 = 0.0001
1072 = 0.001 1072 = 0.01
3x10° =3 ~-1x 10" =-0.1
107 = 0.0001 267.4 x 10> = 26740
205 x 10 = 0.205 234.6 + 100" = 2346
290.1 x 107 = 0.02901 107 = 0.001
816.7 x 1072 = 8.167 1072 = 0.01
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